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AR ()~ KF HeR 8,860M 8,620M

Lk LLIBEFTERAR % 4,420 4,300/
x;s FAIR () ~ T B 9,350 9,110M

e 3) 4,670M 4,550
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LB (hH)  ~ KT B 8,440 8,200

e 3) 4,210 4,090H
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AR () ~ KF HER 9,760M 9,520M
LLiF= IR 6 4,870M 4,750
WP Tk (o)~ L B 10,2501 10,010/
N = 5,120/ 5,000
B AR () ~ HE Hen 10,590/ 10,3504
= 5,280/ 5,160
e () ~ KF HER 9,590M 9,350M
= 4,790 4,670M
e (M) ~ ST HER 9,760M 9,520M
= 4,870 4,750M
e () ~ HEm HER 10,420M 10,180M
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=5 ()~ KF HER 9,340M 9,100M
s 4,660 4,540M
L5 ()~ T Bk 9,590M 9,350
s 4,790 4,670M
L5 ()~ HEm HER 10,170M 9,930M
s 5,070/ 4,950M
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